PP e SV oSl
L5"p\7’~) r}.l& a-\g.i'..'v‘a
O tlaejod max @8 Slaloes 105 0Ll 5057
Cele ¥ ool AEYJARVARRYS{BTY
21 i {0 03 0}
h h
Sf(x +5)_f(xi _5)
fx)- p = O(I?). S (T
F =Ll o), S (2 {7

'h:xi+1 —X 3 J[: :f(xi)ﬁ J[i+l :f(xi+1) ‘QTJb S
¥ s {0505 1)

s S b glarior (sl Jpnp ol 2355 035 o 0 hf(a+h)—§f’(a) L[ de ISl S a8
ol 585 (glam)s

2 Uluo {0 503 1}

GBSy S il b b Ay 4 [ f()dv= A4S (0)+ 4,1 () 8 S g 3 - {T)
il G5 b sa i plis aar Gl f(X) = a+beos(x) Sse

A 65 JI RGN g p S b 20 1)

[ rede =207 0)+ ().

Sl G a,b R a sl f(0)=D (a, cos(2k+1)x+b, sinkx) &g 4 s sy
$F Al {0 05 £}

w X

DEs QT4 S S s (6o5b 1,0, 558 e dolaie 0lyss o fle K S5 ‘JA:L’ )

} o2l
ik
20 s {0 05 1}
S e ) 5 sl
1 1
minli|1|x—|2



15 Wluo {0509 ¥}
S s 5 1y 5 6olSS e

3
_x, t3ax,

X - a
"3t
Sl Kan (6,23 lin a4 o Kad s 53 (641,50 0L ol LS s =T {1}

S sl SIS ) s ol o Res (645 50 583 Sluie o {£)

a>0.

1Y Ao {0 403 Y}
S B 5 L V(X)) = £ 0), (X)) =y Jeesl s dslas
(c)

.JJJJTQMM.: b \ M"_,a (yn+1 ‘Q)ﬁy_}p‘ij ‘yr(1p+)1 é\i))‘j-i:«{_}ﬁ‘b.") L;o.&&f@mdji.&:i d}.ajs _gﬁ."{i}

(9] (¢)
n+l yn+1

s ety [y Slp e S =2 {1}

(c)

"\".,JJT C"’“"\'.' ¢ yn+1 - y(xn+l)

ﬁ‘awmdbé‘ja@&‘—y{‘}

2A Ulus {0505 1)

oAl
4 8 -2
A=|2 0 15},
2 3 11
e s
2
A8 =y Ax=| -1 ali:M:cLU@ku"gSJ@_g{f}
4.5

$4 Wluo {o 000 1}

a;Lé;Mll{..x.&le(xi,xi”), i=1,...,n b s f <oligys gldesaa p(x) ..\:fuéjé).b__ﬁizjléjja L f(x)=x" GU
k= b, 4 S Dl b i sl sl

21+ Ao {0 05 £}

Hﬂm Ll Bt (S7(0)=572)=0) S(6) b oo el 53,5 1y & by e SVslas <an

s o Jo 4 5L s [y Tl 4 b o Sloes i Lol e



